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Solve the math problems to complete the riddle! A=1, B=2, etc.

Q: Why was the magician so good at hockey?

1.   Troy Brouwer’s Number MINUS Robert Thomas’ Number MINUS Brayden Schenn’s Number

2.   Vladimir Tarasenko’s Number MINUS Ryan O’Reilly’s Number

3.   Ryan O’Reilly’s Number MINUS Oskar Sundqvist’s Number

4.   David Perron’s Number MINUS Mackenzie MacEachern’s Number MINUS Sammy Blais’ Number

5.   Jaden Schwartz’s Number PLUS 1

6.   Vince Dunn’s Number MINUS Alexander Steen’s Number

7.   Jay Bouwmeester’s Number MINUS Marco Scandella’s Number MINUS Brayden Schenn’s Number

8.   Jordan Binnington’s Number MINUS Alex Pietrangelo’s Number MINUS Zach Sanford’s Number

A: He always had a __ __ __  __ __ __ __ __.

Hat Trick

Answer:

1     2     3      4     5    6    7    8


